AGS3 Name
Geometry Solids

Unit 5b Review

Find the missing measures (sides & angles) of each triangle. Show all work.

a.

C b. B
12 o
0-/0\ v 37 -
B 13 =
a2 + '21; ,52 . &1 b A
]+ 144 =169 | a= 5| tan 37:%-
dl :;5 - | A 8 2(’
s [l-tan 37 % | b% 2.
COS A= 73
% A:90-37 A =53°
0os'(F)= (A = 22.62 | £
/
. 0S 37= ¢
Sin B = % A s
~ ° [
<o TN ~ ; -_— ~ ot
sin”! (1) IB i Cos 31 [cx 371
Use the relationships in special right triangles to find all sides.
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Find the missing measures (sides & angles) of each triangle. Show all work.
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4.

Find the area of each triangle. Show all work.
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5.

Use Law of Sines or Law of Cosines to find all missing measures. Show all work.
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